
Harmony I Mixte Surdiac

SAS C
arr

e-L
utz

https://carre-lutz.com/acatalog/pieces_fonte_efel-p1.html
https://clpieces.com/pi%C3%A8ces-detach%C3%A9es-pour-appareil-de-chauffage-efel-surdiac-ciney-nestor-martin


1 0846201010_dos de foyer (0846211) 5718

2 0846210110_corbeille avant (0846225) 6098

3 0846210210_corbeille gauche (0846224) 6097

4 0846210310_corbeille droite (0846223) 6096

5 0846210410_corbeille arriere (0846222) 6095

6 0846211010_support grille (0846228) 5747

7 0846211310_support grille avant (0846229) 6472

8 0846211810_grille (0846226) 5745

9 0846216510_tampon ramonage (0794019) 3221

10 0846217010_protecteur arriere (0846230) 5744

11 0866500110_pied 12246

12 0949200510_fond foyer 47303

13 0949201570_pignon gauche foyer 19419

14 0949202070_pignon droit foyer 19766

15 0949203010_taque 19421

16 0949203510_tampon 19323

17 0949204030_porte foyer 19422

18 0949205530_porte cendrier 47304

19 0949209110_tremie avant 61833

20 0949209210_tremie arriere 49425

21 0949212010_grille tirette 19753

22 0949213070_porte chargement lateral 19735

23 0949214510_recuperateur 19754

24 0949217410_protecteur porte 19736

25 1905907510_buselot 5796

26 3099202510_devanture foyer 61592

27 3099222010_deflecteur air sec sup 61593

28 0096449310_reduction 66906

29 0811156610_loquet 3553

30 0821392110_crochet nu 40494

31 0846240910_dos tole nu 5793

32 0846250010_commande grille 6090

33 0846251510_protection de sol 6099

34 0846256510_poignee 5998

35 0846258510_chasse cendre gauche 19755

36 0846258610_chasse-cendres droit 19756

37 0846271010_equerre 17.49

38 0846275210_bouche trou 7058

39 0846281810_tige de grille 6093

40 0866552510_targette 28309

41 0866592010_crochet ens. 5625

42 0914566910_support clapet 5770

43 0914584010_clapet 5775

44 0949250510_guide commande grille 32114

45 0949252910_pique feu 40493

46 0949258010_ cendrier ens. 19757

47 0949258810_chasse-cendres avant 32117

48 3099257810_conduit reglage air 61606

SAS C
arr

e-L
utz


Mettre en évidence


Mettre en évidence


Mettre en évidence


Mettre en évidence


Mettre en évidence


Mettre en évidence


Mettre en évidence


Mettre en évidence


Mettre en évidence


Mettre en évidence



49 3856048010_serre pyrex 13479

50 4906278010_clame 6088

51 0000001069 - corde cerapode autocol. d 6mm 14979

52 0000001069 - corde cerapode autocol. d 6mm buselot 14979

53 0000001073 corde cerapode d8 porte cendrier 4138

54 0000001073 corde cerapode d8 porte foyer 4138

55 0000001111_corde cerapode d10 15927

56 0000001200_ corde cerapode dia 9 31250

57 0000001226_joint serre pyrex 31856

58 0000001327_joint buselot 20151

59 0000001412_joint tampon nettoyage 5719

60 0000001716_joint targette 1716

61 0000002228_vitre 49491 25935

62 0000003889_ressort bague venturi 44697

63 0000003927_logo surdiac carre 41991

64 0000005002_rond. eventail AZ8 zing. DIN6798 4826

65 0000005060_rondelle D6 ZN NFE25513 32152

66 0000006046_rond. starlock d8 42887

67 0000007089_rivet porte charg tr 6x25 zn 31846

68 0000007090_rivet porte foyer tr 8x32 zn 31848

69 0000007092_bouchon cendrier TR 4,2 X 8 31850

70 0000007093_rivet cendrier fore TR 6x35 ZN 31934

71 0000012044_thermostat 08464 5714

72 0000130186_ens. poignee porte foyer 00962 65020

73 0000130187_ens. poignee porte cendrier 00962 65021

74 0000130188_ens. poignee porte charg. 00962 65022

75 0000014009_poignee fuseau 2321

76 0000017014_vis epaulée M6 CGME 250 5611

77 0000017164_tirant 0942 lg=576mm 28268

78 0000024034_ecrou hex m3 15742

79 0000024035_ecrou m8 13083

80 0000024058_vis din 933 m6x10 zc noir 15898

81 0000024071_vis TC INOX DIN 7985 M5x8 6462

82 0000024534_rondelle plate M5 DIN 9021 67488

83 0000025202_gant cuir rouge 38548

SAS C
arr

e-L
utz


Mettre en évidence


Mettre en évidence


Mettre en évidence


Mettre en évidence


Mettre en évidence


